Springs & Accessories

—

J5-53E545 Spring3LeafEye-Slipper 4smmxémm

JS-S4ES45 Spring4LeafEye-Slipper4smmxé 45mm x 6mm

J5-55E545 Spring5LeafEye-Slipper 4smmxémm JS-S5EE45 Spring 5 Leaf Eye-Eye Js-NYB45 Nylon Bush 45mm
J5-56ES45 Spring6LeafEye-Slipper 45smmxémm JS-S6EE45  Spring 6 Leaf Eye-Eye

J5-S76545 Spring7LeafEye-Slipper 4smmxémm JS-57EE45 Spring 7 Leaf Eye-Eye J5:NYB60 Nylon Bush 60mm
|5:59E545 Spring9LeafEye-Slipper 45smmxémm

60mm x 6mm

— 60mm x 6mm
J5-S5E560 Spring 5 Leaf Eye-Slipper J5-S5EE60 Spring 5 Leaf Eye-Eye
Js-seEsen Spring 6 Leaf Eye-Slipper JS-S6EE60 Spring 6 Leaf Eye-Eye J5-STBUSH Steel Bush 60mm
J5-57E560 Spring 7 Leaf Eye-Slipper JS-S7EE60 Spring 7 Leaf Eye-Eye 5/8 Hole, Suit Rocker Roller
({Set comes with Off-Road accessory Kit) (Set comes with Rocker accessory Kit) (Set comes with Rocker Roller accessory Kit)
T i \5ss5RR 5 Leaf Rocker Roller Set (suit 14” Tyres) |
J5-S70F Spring 7 Leaf Off Road Set Js-ssRoC Spring 5 Leaf Rocker Set ss-s6RR_ 6 Leaf Rocker Roller Set (suit 14" Tyres)
Js-S6ROC Spring 6 Leaf Rocker Set ss-s7RR-14 7 Leaf Rocker Roller Set (suit 14" Tyres) |
J5-S80F Spring 8 Leaf Off Road Set J5-S7ROC Spring 7 Leaf Rocker Set Js:s7RR-15 7 Leaf Rocker Roller Set (suit 15", 167)
|J5-SBRR 8 Lga_f Rocker Roller Set (suit 15", 167)|

MY
aian
n!@'ﬁf@f

o -

JS-ORACC Off Road Accessories Kit JS-RACC Rocker Accessories Kit JS-RRACC Rocker roller Accessories Kit
includes includes includes
2 dumjack, 2 hangers, 4 shackle plate, 2 axle pads, 2 Rockers, 12 HT bolt 5/8, 2 Bolt 5/8 Greasable 2 Rockers, 4 medium hangers, 2 large hangers,
2 greasable HT bolt, 4 non greasable HT bolt, 8 shackle plate 5/8, 2 large hanger, 4 medium hanger 4 greasable HT Bolt 5/8, 4 non greasable HT bolt5/8,
2 fish plate 5/8 10mm ,4 ubolt 5/8 | 2 rocker HT bolt 19mm Greasable with castle nut

P1




